AM—A | PART—A
Hget Hath T | Computer Related Knowledge

1. fees g & ant o =0 Ol 27 1. What is true about disk structure?
' A) Track > eylinder > sector
(A) ¥ > fafder > dF A
{(BY Cylinder > sector > track
) fufftet > #a > &%
C} Track = sector > cylinder
©) = > fwm > fufa= ©
\}B’f FFery 23_7 e (D) Cylinder > track > sector
o =
' 2. Which one of the following is not a
2. Pttt 3 & HH-H1 T T EIEE product of Google?
27
W (A) Android
AT Android
(B) iOS
(B) i0OS
(C) Chrome
(C) Chrome
(D) Gmail
(DY Gmail
3. What is incomrect about the features of
3. 70 0 AR 1 e 27 YouTube?
(A Tafed st (A) Video uploading
B fafe ot (B) Video analysis
(C) fafe Trareiian (C) Video downloading
4
) fafzhiofdy (D) Video searching
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(B) W T

5.

(C) = ¥
o) i

6. T T FEA-R 9T WHW HI GTH
TR | Az 27

A e
(B) #io o g0
() Tawm
o fn |

4. Most applications of robotic arg |,
area of Sed ip

(&) cooking
(B) manufacturing
(C) teaching

(D) farming

5. Device whichis used in stores todee...
read universal production code ki
on each product sold is called e

(A) barcode reader
(B) laser light
(C) spycam

(D) printer

6. Which component of a compu!®
connects the processor to the o
hardware?

(A) Motherboard
(B) CPU
(C) Punch card

(D) Chip
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indiresult.in whatsapp - 9352018749
7. o foen = Pafm =0 9 dom

7. What is the name of program that

=1 =9 =1 -3? controls the computer system?
(A) ETESE (A) Hardware
(8) . (B) Keyboard
| {C) Software
_lef wiwEa
(D) Mouse
(D) HIEH

What best describes how an inkjet printer
prints an image?

8. sz firx vs 39 W 3 i =A@ %
&7

(A) U Fige 7 F e o vy A
T 2 o

(A) One dot at a time to form a
character

(B) Spray-printing a character

£ w-ffin 9
(B) WF (C) Striking an inked ribbon

ey’ i e W REE B D)
(D) T o e |

Dropping ink onto the paper

9, What is another name for a dot matrix

9. iz Afima Rrer =1 g w0 #7 e S
() e (A) Impact printer
B) = firx (B) Page printer
(C) & e . (C) Spray printer
By wmE . (D) Line printer
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e o B w-m v aiatfEin fRren Al
By

(NBREEE

(B) fermm

(c) =fa

\ (DY ailitw

fg & & F-w fe-gen wimfin
form &7

(A) THo THo-ETH

(B) yfm

() =fam

Bf (A) 3 (c) A

12, UMo UHo HMIGH HIRAW U7 % HY

Fr-T1 Tiyie el e 7
(A) o THo-TE
\_{BY THe THo-TUFT
(C) THo UHo-TTETETEE
(D) To THo-TFHE

13, wraRoE: e Wl at fiie g R

(A) TEE 9B 9T
(B) 3fem g8 W
ey mh i w

(D) #M 98 ™

'40. Which of the following is ot an operating

1.

12.

13.

system?

WINDOWS
LINUX
OS5

Oracle

(A
(B)
(C)
(D)
Which of the following is single-user
operating system?

(A) MS-DOS

(By UNIX

(C) XENIX

(D) Both (A) and (C)

Which one is the spreadsheet application
that comes with MS-Office scftware

group?

(a) MS-Word

(B) MS-Excel

(C) MS-PowerPoint
(D) MS-Access

By default footers are printed on

(A)
(B)
(C)
(D)

first page
last page
all pages
even pages
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14.

o g0 I9Em fEm W@ SIEn §90
el
(A) WWW
(B) HTTP

_AC) TCPIIP

15.

(D) FTP

Prfafea # @ FR-H FEEEe HOH
wrrf gt 6 feon e

(A) www.google.com

(B) www.justdial.com

&} www.localshops.com

16.

(D) www.yahoo.co.in

o T fEH TR W mge o
e TR HTHIE S gEE
o e W ENe FA 8, FEe &

17. U HE GEE W FMGR W gg #@

721 FFREE S ST B ST 8, TEel
(

(A) ZE THEW
(B) 2= &

\_4e7 Eree Wmm

(D) &wEn T

14. The communication protocol used by

15.

16.

17.

Internet is

(A) WWW
(B) HTTP
(C) TCP/IP
(D) FTP

\Which one of the following websites will
give you details of local shops?

(A} www.google.com
(B) www justdial.com
(C) www.localshops.com

(D} www.yahoo.co.in

A technique in which a program attacks
a network by exploiting IP broadcast
addressing operations is called

(A) Smurfing

(B) Denial of service
(C) Sniffing

(D) Spoofing

"A computer virus normally attacks itself

to another computer programme known
as '

(A) target programme
(B) Trojan horse

{C) host programme
(D) backdoor programme
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18. VGA 1 g6l B9 H1 87
(&) Visual Graphics Application
(B) Video Graphics Application

\j,c-)/ Video Graphics Array

(D) Visual Graphics Array

19. Erefefiga  SH-01 T F99 B BRI
TH 27

(A) .img -
(B) .png -
ey 1if
(D) .jpg-
mﬁrﬂ-
20. 17TB =ET BT 8 x“ﬁf,:::w q:‘;h
(a) 10° GB ‘T:m w;*ﬁ
Gty ‘
() 10° MB
(C) 10" KB

DY I wh

18. \What is the full form of VGA?
(&) Visual Graphics Application
(B) Video Graphics Application
(C) Video Graphics Array

(D) Visual Graphics Array

19. Which one of the following is not an
image file format?

(A) .img
(B) .png
(C) tif

(D) jrg

20. 1TBisequal to

(A 10° GB
(BY 10° MB

(C) 10° KB

(D) All of the above
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WM—B /| PART—B
(1) w=a = 1 General Hindi

51, Prefefma o=kl 8 @ wh-m =
A & wem-vsn 1 e e v
B7
(A =9
(B) =M

AC) @
(D) 4=

a9 Frefafas =nl el 0 v os % 9

#i7  Vi £ T © W T & s
T w1 HE e w-m Ry

(A) T, TE, 7=

(B) AT—Tda, UE, A

c) Fam—smm, R, i
By avi—in, fim,

3. Pofaiiss 4 & Sh-91 7= w5 Tw
&1 TATaETE e R B 7

(A 3T
(B) wEM
(C) HHE

+pf afgd

24, W WA ST W =0 o e e
Ry

il @
(B) M
(C) =W
() Todw H # 0

25, ‘Tl H =@ H FHidal T gEE THEEl,
e of ud % fawg 21" g oA 4 W
Frg TR =1 TEAH 27

(&) FreErs wEm
Llﬂa/ﬁ?ﬂ'ﬂaﬁﬁiﬂﬁ'—!ﬂ
(C) HuvETHS HAA
(D} ST
26, Pefsfm A d sR-mam g 27

A e & e e
fem 7z we 21

(B} o8 3 =91 # =& Tgar UT, TEE
ol

(c) gen fanh #: s @ T2 §

T el

(D) FvEw @t Wt
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27. Frefafaa 8 4 9o afy =g’ =1
FETETV hA-AT B 7

(A) mE + 3ited = wEkEr

(B) TE + IeHE = WErEd
‘_{_ej/:!a+_3i'ﬂt=1?—_=i'ﬂ'{

(D) oY + J0a49 = FYHA

28, Prefafiag se-dheal § § wildme
ITEEHT T TETE §

{A) Faft oun UH-TF qTE |
- wig wifE = A

-._JE:"J ﬂﬁmtﬁaﬁﬂﬁmﬂﬁ!

aft 2 e, B @ R
Tt 211

o 4 3 @ Tl ww

(D) 9T TEET & W AR 44 3
foeft-ferft Py el et s S

29, ﬁam#uﬁ%Wﬁﬁmﬂmﬁﬁ?ﬁ
g7

A T 13, 11,13, 1

(B) & 13, 13; 11,11
(C) #HHEl: 11,13, e

(D) w11, 11,13, 13

30, Frefafiaa i @ wH-11 W o S
27

(A) aT=Ed
(B) 4R
(C) 3R

By I
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V&) HIH=E HuAl 1 General English

31, Select the correct antonym for the word
"besmirch’.

(A) Honour
(B) Condemn
\-gcfcriticisre

(D) Appreciate

32. Select the correct synonym for the word
‘wretched',

(&) Shattersd

{(B) Clumsy

oy Tired

(D} Miserable

33. One word substitution for "A great lover
of books'.

34. Choose the corract feminine gender of
the word 'stag'.

(A)  Vixen

(B} Hind
(C) Filly

(D) Goose

25 Fill in the blank with the correct
pronoun ;

Rama and were present in the
class.

\ (A" me
(B} them
) |

(D) her

36, .. Choose the correct conjunction and fill
in the blank

you try, you will not succeed.

(&) Biography (A} Unless
(B} Bibliography @) I
(C) Bibliophile (C) As
(D) Biblical BT But
e

£

R
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37.

Fill in the blank with the correct
preposition
He leaned the wall.

(A) above

(B) to

\_(C./ag ainst

38,

(O) in

Select the comrect passive form of the
given sentence !

You cannot pump the ocean dry.

(A} Pump the ocean dry.

(B) The ocean is dry.

'\_(DJ/ Cannot the ocean dry.

(D} The ocean cannot be pumped dry.

39. Choose the correct parration :
Rishi told him, “Your bag is new."

(A) Rishi told that my bag was new.

(B) Rishiteld him that his bag was new.

\-(zz/ﬁtishi told bag was new.

() Rishi told bag is new.

40. Which is the correct spelling for the word
meaning 'a friendly relationship'?

\_m/ﬁﬁppﬂfﬁ
(B} Repore
(C) Rapport

(D) Reppore



(3) == o | General Mathematics

o, 0 o TR | um—wm i g 41. Four boys fire shots from their pistols
T7aT S TR X simultaneously. After that thay fire at
T 3 4,5,67418 * every intervals 4, 5 6 and 8 seconds.
S0E O e SO R | YU A - How many times did they shoot
vl T o TrET, e fie 4, 8 R simultaneously after first shots in thirty
' f
(w14 (W 14 ) G
(8) 15 : qu‘ﬁ‘-“: B) 15 %
\.{Cj’ 16 L ‘k.%a {ﬂ] 16
(D) I H H wrd T fﬁ,’ ¢ (D) None of the above \J
Whes | %’{
2. 9 B ! | TE TR J:‘DE;_ LCM and HCF of two numbers are 5083
AT A soeaFm 23 B At uw | A4 and 23 respectively. If one of the numbers
3% 391 B, A gEU 3T T -4 is 391, then what is the other number? ::‘E“E
= g
(W) 297 s A} 207 \
w¥y’ nﬁb?‘-ﬁﬂ" i 13@ !
(B) 299 L PO el B 200 = E
T Vet | DT116905 o pgdXLS
el 303 e T (1 393 7 599 gofif—
¥ 3890 w2,
(D) 318 (D) 318 3 ’Lf_'iﬁ/b'f
1 T 690
43, (-0D8 lﬁl .5 1 27 43. What is the value of ____i'mﬂl“r"l 1-5?
1.@{}1;_:',]3 {!‘:’. " i g (0016)%
L x
el q (&) 10-75)"
(A (0-75) . E%ﬂ WC gx3 B XN
By (0-75) }3’}—)’ " (B} (0:75) e
Yy %
(C) (0.75° XE -Er_'} () (0-758 paXin L
. 3
© 1.75 (D) 1.75
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44. A% U F) o Fif, wwf

44. Calculate the value of 4 when

25 57 252 5%
05 AT 4= Tn g
g% 2 ‘
a- 5 ,
01° (A 107 :}i;.:if x5 Loer W 107
L= \D J};‘E}{?
! T o silliat :
(B) 107 g waffg (B) 10
: ot q:,:-'t'
() 10 *‘EE \ 0 (€) 10
\Aﬂﬁ/m“ y (D) 107

45. 35 faenfdgt 6 o e # faenfiEt
FHea amg 17 9 21 3w war F o=
Freres wen ferenfildi 1 sitem o 189
2, T Ruers ) o 2

In a class of 35 students the average ag:
of students is 17 years, If average ag:
of students and their class teacheris 12
then what is the age of class teacher?

\_MEE ﬁ {A} 53 ?EEFE
E'- B
' (B) 55¢ 5 LT (B) 55years
-5 ‘i_l:i'i! b3 C :
(C) 5194 - ?51%% (C) 51years
b (D) Mone of the above
O wwEdAE  SNb

46. ﬂﬁﬁmﬂéﬁaﬂ;wsﬂﬁu&,

A1 Fh 1 A w9 § e v

4
If a water tank is filled = part in § hours,

then what time will be taken in filling

i the half of the tank?
' - bl | % _
(A) 52 '5:5; Ijr;f; oo A Shours
- ":} ?:,H "'I
(8) 672 i > 7 () 6hours
o1 g e (D) ;huws
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-ax=l-b+¢)
41, —— 5 *~C T WA T R?
afc - bjl-c) [ p-C 2l
A:' 1;]_“} #‘\ﬁ;{ o)
- l“kb
o Bt ¢
k/(gfﬂl;h-.r:‘p-::
a+hb
(D) IF 0 H Fy T
48, 2w uE g A% 12 afie & e 48
20 Rrowfiome &t =Te & wwes Bt R '
frtia fon & g 8 @ ww = el

R o WY T O FA R A 98
ZMl =R % 10 e & se | e

T

47. \What is the value of -

J¥neets the cars in the interval of

1
= "'”',. i

h

- {1l

ale - bi-¢)
{a - b}
ale—bjc

By ~oe3

alb-¢lc
a+h
None of the above

(C)
(&)

Two cars start from paint A at a speed of
20 km/h at an interval of 12 minutes.
\What is the speed of a man coming from
a point B in the opposite direction if he

Lart 10 minutes?
LR R R el o () g
(C) B F‘m"nth;u Uiy 527 N fﬁ?—fﬁ“ (D) None of the above
(D) I H & wE i — ,
s ﬂﬁa:bzs:qﬁ*?ﬁ 2ot @b 14. ::.h;ﬂ-ﬁ:-,thenwhatmthevalu&uf
E‘Tf"ﬂ'l:l'iﬁl'g? - \'.l'nﬂﬁq; a®+h :[a+b’g2?
(A) 16:25 TEW | ®C- (a) 16:25
(B) 9:16 ﬁlj,‘ﬂ‘xl b 8 9:18
\(GT 25:49 o (C) 25:4%
(D) ﬂ'{{'ﬁ’ﬁ T o % T8l (D) WNone of the above
50. U TR 16 WE o ST H = :
f:;?;'-ﬂ 2 =n a3 1235 50. Diameter of the base of right circular
b ; ] Eﬁim $ﬂ|§ solid cone is 10 inches and its vertical
%‘mm 7% % HAE Y8 F & hair?ht is 12 inches. Then what is the
; surface area of the cone?
(A) 155% & JLapaab (A) 1557 inches
\UBr 155z T I . D3 (B} 155r square inches
(C) 90n == ' (C) 90n inches
(D) aon T 39 7 (D) 90r square inches
1 s FH % fere m | SPACE FOR ROUGH WORK
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== v S=m 3 171 8w frm I R,

51.
= Fwe= 4g 741 21 ofe 3= dEm w19
(A) C .
fE} 1 ﬁ] l,._I“‘f___..-'
‘-.-JCT 2 o
(0} &
£2 91 013F° S BE S A T
=-I] SR T
h = ¢ cou
) 1
(B) 32 wJze
H_._,.-""
- H_?_',_,-h-'-"’
a

83. 12317 - (102)8% w

{(213)'% - (120)'2%)
= I5EEE IEETE 591 B

53.

51. A number when divided by 171 giveg
remainder 40, If that number is divideqg
by 19, then what will be the remainder?

(A)
(B) 1
() 2
(D) 9

0.

What will be the digit at unit place of the
number (201372

52.

(A)
(B)
(C)
(D)

= B [ =

What will be the common factor
of {(231)%3 4 (102)234)
((213)'% 5 (120)'2%} 7

and

A 3
;E? ;z (A) 333
(D) 234
84. = =R-H1 598 72 5= 2 s o T
: 2 e "a'FT % Whichiis the largest number which when
185373 2175 I 9M = W waE: 3 divides 1553 - ;
: : LC and 2175 gives respectively
£ a2 . t\‘ 3and S as rﬂmai“ﬁﬂr?
(h) 21 £5% N3P 1
{Ej 3?1:' !{E] 1 p gﬂ'fg{‘g’éﬂ} .{I'ﬁ'-} 31
) 15 gy ke 370
(D) 310
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1 I =<
o e 33— 3335l
% U5 4 33

94~

433333 =
35

S
(A) 333335’-5-

\_(BT 5

(C) 123451'5211 '

121
(O 37035 3—5

§6. Afe x*y=2x+5y, 78 3+5, 5+3 d

TRa EEI 27
A) 2 A '_—.':':""'-'1"53'
= g 4 5w
B) 4 3IRE = hi +‘Eg‘l
LA Bra o oxk+ 53
(D) 8 = o4 |E
15

57, @ e § ¥ wnell F g & W gEd
¥ W T W S T 1200 W E 2

sl Teel % U= T H @ gudl & de
T WZM W 900 WH B 21 7 g
HENSA T A o 87

(A) 200 -

(B) 300

(C) 100

(D) 500

55,

56.

57.

1 1 1 1
=533 —3 33— +3333—
34l 3* 34
+3333315 =
3
(A EBHEEE
35
(Bl &
121
(C) 123%53—‘1

121
(D) 37035

if x+y=2x+5y, then how much 35
s greater than 5.3 7

(A) 2
(B) 4
(C) &
(D) 8

From two numbers, if two times of first
number is added with three times of
second number it becomes 1200 while
from five times of first number if three
times of second number is subtracted it
becomes 900. Then what is the
difference between the two numbers?

(A) 200
(B) 300
(C) 100
(D) 500




sum of five consecutive numbers i 5,

" . 68.
69, = FET wEna F A 56 while aum of sevan coneeculive numbe,
o FETE HEns & am 77 #1 T s 77. Then what ]Erﬂl‘l: u;lfralmncla ol by
T A . areatest number of the firsl Series anpy
el WA H‘ﬂﬂi‘ﬂ > ﬁ;ﬂ i T oot ;ﬂhn smalles! number of the gecan
£ 7Y T g w1 I W I.Tmr"”‘ pari T
% 7
i R A A L y
B M e xie ™ e 5
G b5 ® 1 537
A 13 g = 29 o 52 24
) 8 o~z ._},,ﬁ'ﬂ”" € 13 gyt
- "q i
D) & e
59, TF HW A B B 7% 120 fre e ufy (® =
oz i afiy @ A @ A 8 W A T 59, Acargoesfrom A to B from the speedof
80 fiFo e wh wver i wfy & wem 21 120 km per hour and returns from Bto 4
Foqu AT IE by 80 km per hour. What is ils average
ﬁﬁ:ﬁ;:m % T e speed for tolal journey?
, 1 (A) 100 kmvh
(A) 100 fFe te /avm ) (B
L5 0%  (B) 200kmh
(B) 200 fiko o /umz y. \
Vi L (C) 96km/h
el ssfbo o/ T ag ;’
£ = (D} 48 kmth
(D) 48 fFo o /HoET jf?f
60. In the mixture of 35 lilres, ralio of milk
60. 35 fiex fyzer 1 g e WHL T I and water is 5:2. How much water
should be mixed so that this ratio
;:tumﬁﬁm;ﬂiﬂﬁmm ispaabag s
I 5: 3 Bl W0
T (A) 10 litres
10 & g
» ) : o * (B) 25 litres
(B) 25 & a9 T 21
_ief 5 (C) §litres
|
oy 12 ¥ - uijn:ﬁ (D) 12 litres




gt, afe et amam it e # 20% € gfz

aegr =erE o 20% = = & s, F
0 A F AR § BOf
3
(A) 1%3{‘5& ﬂ-rt-'ln" E"ﬁ,fj
\/(31/4%51# _u
©) 4% e
) A FH T g

2. THEARE FH EAL T100H e0 F @
giest T 120 § 70 =1 &0 & == 7
Tae wY % B e

6 5
(B) 20% %{ 3
: i =
(B) 7% > 'LP 5
3 .
\,_,.,l'(c{ EE% /’;/;:
7 g -
25
(D) 3'-‘:-% %f:
|X-Heoe 9.
—55 7

63. el a%g %1 wa pW 39 I % T
I W 20% 21 e Feea Ie W O

Torm wigmma 27
=l S ;’Ih”’ifrﬁ
5

\ &7 500% w0
(B) 250% L
(C) B8O% '5_5
(D) 96% 3

61.

62,

63.

If in a rectangle length is increased by
20% and breadth is decreased by 20%,
then the area of new rectangle will be

(A)
()

(C} 4% increased

1% decreased

4% decreased

(D) Meither increases nor decreases

A person purchasing some oranges at
the rate of 60 in ¥ 100 and sells at the

rate of 70 in T 120, What is his profit 967
(A) 20%

(B) 7%
E-:l
(C) 2-%

329,

(D) 7

Cost price of an article is 20% of selling
price of that. Then what percentage is
sélling price of the cost price?

(A) 500%
(B 250%
(C) B0%

(D) 96%



w¥é ) wur s o) g A 10 Wi i

64,
A v o R, @ fe e i oA
A Y T 7
(A) 20
(B) 30
(C) 40
(D) 3w H | wr§ T
65. fmft fafrem wraf = i g1 4 ¢ 500
# wwfn 6 @l #§ grh @ @ 2, @
24 o wre 7w freed A w7
\ﬁ?ﬂlﬂ'ﬂﬂ 5 \ﬁﬂm‘l"“
1y T f_:,'}ﬂq_,g
(B) ¥ 6,000 ") q
(C) T 2,000
(D) T 5,000

P fmdwa/llme, a9 La+sh=7

(A) 95°

(B) 180°
(C) 360°
(D) 215°

B4,

65,

some amount doubles in 10 years at the
rate of aimple interest, then in how man,

years it will become four times?

(A) 20
(B) 30
(C) 40
(D) None of the above

At the fixed rate of compound interest
7 500 doubles in 6 years, then how much
it will become in 24 years?

(A) ¥ 8000

(B) ¥ 6.000

(C) ¥ 2,000

(D) ¥ 5000

In the following figure <a + £b =7, when
Hlm:

(A) 95°
(B) 180°
(C} 360°
(D) 215°




ET+

10,

AB = 18:2 Ho Mo TUT DE = 13 o o
a1 AABC ~ADEF . afy Aper %)
aftm 50 Ho Hio B, 1 AABC @ wimm
B

(A) Eﬂﬁn o

@) 70 Ho o

() 110 He o

(0) 125 &o Hro

& T f TEE g 39 Fo e
2 afz 9% ww fawd & w=r
72 #o Hie B, A 21 Rl Y wreaTEl
F1 3T fe 27

(&) 30 Ho Hio

(B) 36 Fo Mo

(C) 42 Bo e

(D) 102 To Hie

UTg % W UH T F AW 500 TFo me
2| afe zoeht wdl fermadi =1 @ 4 o
T 20% =t femn A A BE U
fem g 7

(a) 4 fFo mmo

(B) 8 Tho Mo o
(C) 10 e Mo ,
(D) 125 FRo o ;o
B wras Fei & oAl F AEEAl w0
IATE 7 5 % e St 1 36 301
1 71 T sl & ane Ree gy
(A) 143:225

(B) 225:143

©) 25:21

(D) v § & =% 7

e

i

f

67.

68.

69.

T0.

AB =182 cm and DE = 13 em and

AABC ~ ADEF . If ADEF has perimeter
50 cm, then what will be the perimeter of
ABC 7

(A) SDcm
(B) TO0cm
(C) 110em
(D) 125 cm

Each side of arhombus is 38 cm. If length
of its one diagonal is 72 cm, then what
will be the difference of both diagonais?

(A) 30cm
(B) 36cm
{C) 42cm
(D) 102 cm

Weight of a cuboid made of metal is
500 kg. If all its dimensions are made of
20% of the dimensions of previous one,
then what will be the weight of the new

Acuboid?

(A) 4kg
(B} Bkg
(C}) 10kg
(D) 125 kg

Ratio of surface areas of two hollow
cylinders iz 7. 5 and ratio of heights is

3. 1. Then what will be ratio of their
volumes?

(A 143:225

(B) 225:143

() 25:21

(D) Mone of the above
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(1) ATHT wrfives Gimmt | General Montal Aptitude

PART—C

#)mowresuLTe

Finel the missing number in the follawing

. oy -— T,
fr =t 1 fage wEm 9 i, sqUATS
33| 72| 45 | 83 aa | 72| 45| 63
27| 2| 7| 1 7| 2| 2| 13
54 | 18 | 44 | 91 54| 18| 44| 91
(B) 28 (A
(D) 394 A @ I T &
(D) None of the above
afe 0 =t Psfa R s # oooo &,
1 %1 0001 &, 2 =i 0010 ®, 3 = 0014 72. 110 s represanted as 0000, 1 as 0001, 2
H, 4% 0100 |, 5 = 0101 A 3 gt as 0010, 3as 0011, 4 as 0100, 5as 0101
; and so an, then find the missing number
THR T R, 7 fret =l 5 3 qH §E i the following square
A il -
0100 0010 | 1001 — 0100| 0010 | 1001
0001 2 0110 By n“ﬂn 0001 ? 0110
LR 0111] o101 oot
0111 | 0101 | 0ON a9, \ \
B
(A) 0111 @® 1000 3°° o ﬂ\ (A) 0111 (B) 1000
(C) 1001 (D) 1111 “‘q R % y @ 100 (D) 111
3t o
3 O
w1 i v [ i ¥ E1
Ayt w R L '.m‘mﬂ Tl 73, Ii*+'means':’ '-'means'.’ '« means
mad R WA R '~"and " ;' means '+, then
" 2 | Bv3sB-4x6e
gt g @ INDIRESULTH
(A) -222 (B) 18 (A -22:2 (B) 184
(& 16 (D) 25 (C) 18 (D) 25

e R i i &



1 ]

-4 B A B wr-m v B (7)

75.

76.

Rreifin & & s R # P

T 7 i
% "; VL

(cy 12

froifen Tt =1 I@m # Fa Fifa
fs ofe g 3w § &, @1 A= F-T 378w

PR
LI i

T4,

75.

76.

Which of the following will replace the
question mark (7)?

) |

From the following pattern, find the
number of dots in the next figure :

A L7 A

(A 24 (B) 15
(C) 12 (D) 18

Using the following figures, find when B

is at the top, which letter will be at the
bottom?



T A i
i B ¥ 3 Vv 2 H;?. ind the letters at blank spaces of the

77. E=lafEs -0l i e following letter series -
3ET T Fh0 - £ K G M, am
EKGM___ .OM___ .
(A} LN
(A) LN
(B) S.W
(B) S. W
c) LU
(Cy LU
D KS
PRy . 78. Which of the following is different from
78. FfatEs § § SR-T 7 9 im the others?
2 Kolkata, Mumbai, Allahabad,

Thiruvananthapuram

{A) Kolkata

(A) Frer
(B) =2 (B) Mumbai
(C) FeierEle (C) Aliahabad
\Jpj’ Gr=Essire] (D) Thiruvananthapuram

79. ﬁ"ﬂl wifes avfi § fage @@ W6 78. Eiuf::bﬂ;f:::::!g number in the following
TT: '51 T e 1 1,3,6,5,7,10,11,13,16,___ 21,24
(A) 17 (A) 17
(B) 18 (B) 19
(€} 15 (C) 15

(D) 3"1’3;?5 # /w1 A (D) Mone of the above



Y WAL 2
a0, By § & -8 e s i, WA
fe o vem-doft § ST B

BCDFHIJ
(A] LM

(B) MN

(C) KL

ST

80, Which of the following will be next letters
in the letter series given bel‘ow?

BCDFHIJ
(A) LM

By MN
{C) KL

(0) LN

81. Find the missing figure from the answer

g1. I B 3 fem Fam um i . figure :
uya fim T form Froblem Figure Answer Foums
a2 3 'c_ 3o ac aC 4 1A zF_:g! | & 3D 4c #c &
= : % ' @. ;| 4 e B L R
T B h"i G 7 |’4D% cg 0 ‘Ln .|2.l| & .]pliﬁ 7 ! ﬂﬂ",ﬁx G = W
ﬂ._.ﬁ'."_d. . LY, : e | : :ﬁ =3 ] 3
|1 | | 413 %] & a1 | o | { i = H -
1 2 3 4 1 z 2 -
(A 1 1
) “ B8y 2
cy 3 ©) 3
) 4 Dy 4

82. 7 'BADMINTON' i Feag o 7
& ‘cBFOLQXSS' #, 7@ 'FOOTBALLS'
F Fzag o S t: 1

(A) GPPVECPQX
(B) EPQWEEFPX
(C) GPQVEDPPX

(D) GPQVEDPQX

82. If 'BADMINTON' is coded as

‘CBFOLAQXSS', then 'FOOTBALLS wil
be coded as

(A} GPPVECPQX
(B) EPQWEEPPX
{C) GPQVEDPPX

(D} GPQVEDPOX



83. a2 ‘GORAKH =i Fzaz fFa T &
'760128° #, 'SHYAM' &1 Feag fem
TR ‘187147 A, T 'KRISHNA'
s fFmaEm A

(A) 2081851
(B) 2991851
(C) 2891861
4D) 2990851

84. I oA # fagw frm s Fifom

29908

T

alole

3

83. If 'GORAKH' is coded as '7TG91y,
'SHYAM® is coded as "18714' ty,,
"KRISHNA' will be coded as

(A) 2981851
(B) 2991851
(C) 2891861
(D) 2990851

84, Find the missing figure from the answe

figure :

Probtert Figure

Answer Figurs

(Al 1
B 2
<) 3
(D) 4

IR Al

|
S

_:I:.

Flat a8
i

85. Find the missing figure from the answer

figure ;
__ Froblem Figuire Answer Figune

swol R R

| | 2%

1 ~& o5 4
(A} 1 (Ay 1
(B) 2 8y 2
(C) 3 (C) 3

\_-ﬂ:ﬁ/d (D) 4 .




gs. ERa Wit ¥ fem wivim wumEf =

87. 'y ww i em B 7w

88. wmm # faish fufmm weEmm sfufem

—_—

(2) 92 7 [ General Knowledge

AT HE w87

(&) o T TEIG TR

(B) o Ifem T
ey ero wrsft 2z

(D) =0 FifamE =

femm 27
K do TETEETE TEE
(B) ofteft sfen wiiefi

(C) =fo wifest g

(D) HETe T

(5w) wa = e e ?
(A) 1873
(B) 1991

\ Sy 1997
(D) 2000

88.

87.

88.

Which Indian Prime Minister's name is
linked with Green Revolution?

(A) Late Lal Bahadur Shastri
(B) Lale Indira Gandhi
(C) Late Morarji Desai

(D) Late Narasimha Rao

"Agriculture is the soul of India.”

Who has given this statement?
(A) Pt Jawaharlal Nehru

{(B) Mrs. Indira Gandhi

{C) Dr. Zakir Husain

(D) Mahatma Gandhi

When was Foreign Exchange

Management Act (FEMA) implemented
in India?

(A) 1973
(B) 1991
(C) 1987
(D) 2000



B9. ok Ireyl Urfer e v ol sty i

whirtiy ¥, w

], T
(B) =, y=
(C) 7=, P
(D) =, arr=

90, TF HIGH w1 sqa=mer (00 fn o fnk

a1.

TR 7

(A) HIE T ATy

(B) mafem R w worded

(C) mean @ wepfy v wfiferr s

r (D 7w @i

= urgadt =t == @ Bremiiea & anan
T wRd A W sgEteda shifay

(. Ll

i, @

. #EEEe

v, Hifzag

(A) N<ill<iv<l

By Ii<l=<Ili=I[V

(©) Mel=v<l

—BT V<l <l <

B89, Tharesistances of an ideal ammete, ;.
an [deal valtmeler respectively are

{A) zero, high
(B) high, zero
{C) =zero, low

(D) zero, infinite

80, Refractive indeax [u) of a8 mediuy
depends upon

(&) temperature of the medium
{B) wavelength of incident light

{C) nature and physical state of ths
medium

(D) AN of the above

81. Armrange the following metals in the
increasing order of their reactivity

towards water -

I, Zing
Il Iron
. Magnesium

IV, Sodium

Ay ll=slll<iv<]
(B) i=i<lli=]Vv
(C) M=m=Iy=<i

(D) W <l=in<]

93



92, HHI—I = gEht— & gitferm = e e

& HerEa 3 Tt I =l i .
i et

(a) o wE fawgy w1 et werw (1) wefifem
(b) waiftmum e aEnuy (i) @
1’&] watfirs s o (i) @
(d) == w1 e o fiv] Ferftam
(e} weH Eehtg (v) =t
FE:

B) w v if i U]
ey v 1 S
(D) i iioowv i

93. HM-7 wEvl & faer A w1 T ey
it 1 &7

(A} MgS0,, Na,S0,
(B) CuSO,, (NH,),S0,
(C) BaCl,, NaCl

(D) CH,COONa, CH,COONH,

92.

Match List—! with List—I] and select
the correct answer by using following
codes ¢

List—I List—il
fa) Bestconductor of heat (i) Aluminium
and alactricity
(b} Most abundant metal (i} Lead
{c) Most malleable metal {ii) Gold
(d) Poorest conductor of () Lithium
heat
(e) Lightest metal {v) Silver
Code

a3.

(@l (b)) (cl (d) [(e)

A v v i i

B v v Wi
C) v i i if v
(D) 7 fi v i

Which pair of solution of salts is acidic in
nature?

(A) MgSO,, Na,S0,
(B) CuSO,, (NH,),S0,
(C) BaCly, NaCl

4

(D) CH,COONa, CH,COONH,



94, " TR H wud 9 0 #

(A) T

(B) =TI
& et

(D) wmRiEes

(o) = H A A

94, Largestgland in human body is

(A} liver
(B) pancreas
(C) pituitary

(D) thyroid

95. Most green algae live in

(A) freshwater
(B) deepsea
(C) rocky coasts

(D} hot springs




96. = § # wh-3 wh #7

. Teuia v Fates grea gqm Paife
g &

I FeEfs e 4 deg & Paike
e B

. Pt e § os fRarmrea &
fraifea wew 2m &

v, agal 5 = % for Pt g 2

V. SEEE 8 el w wes g
T HHA B

VI, T SR ST 1 St i
2, TEala F1 g9E o T 2|

(A) 1 ] v

B I mw

© nmoow

(o) I IO R |V}

. o @ a-md ud 2y

| 3= =T & = i el
g9t g A B

Il. TEal, 9Wa F = w3
ey et I ST & i
#t frafes = 21

M. weafy, T % TeEaE B T
F 2

IV, TEafd, 3= e % g A
& +ft momd w0 A

(A) I

8 1 Il -

€ 1

@ o mW

96.  Which of the following is correct?

. President is elected by electoral
college.

Il. Electoral college consists of electad
members of the Parliament

lll. Electaral college consists of elected
members of the State Legislature

IV, President is elected far five years,

V. Tenure of President can be extendsd
in Emergency period.

V1. A person who is natural Indian citzen
can contest the election of Presidert

woron v
B 0w
€ nom W
oW

Which of the following isfare correct?

|. A Judge for High Court is appointed
by the President,

ll. President appoints a Judge for the
High Court with the consultation of
Chief Justice of India.

Il. President also consults with the
Governor of the State.

IV. President consults the Chief Justice
of the High Court too.

(A) 1

B 1
NLoounom

5} oonom W



2l
ﬁmﬁm%ﬁﬂ:@ﬂﬁﬁﬁﬂﬁ
ag faga Fm # 2, gah! o HH
HM?

(A) Il

(B) T

(C) T A
(D) T fafrean 3R wmeg sfuewi

g9, us fatass, feam wm g wiitE =T te
e 3 T wfteg 5 s gEH €
fayum | fafia & ) o= =0 Emy

(A) T =TwTE g S

B) af @ faum oiwe g o w
T, W AR A = S

(C) ﬁﬁmwwmyﬁﬂﬂaﬁ?ﬁ
(D) 7@ TEAfa Hi Tl feran o

100, W # T Fee @1 WA 4T B 7
(A) e ST HAEL
(B) IR #eivst
(C) T FHervet

0 fett FevEt

98.

100.

iti | ts to Cﬂnleﬂ
citizen of India u-l.ran "
gtactinn of Legislative Assembly byt y,
s of unsound mind. Who can declare th,
he is of unsound mind?

(A) President

(B) Gaovernor

(C) Competent Court

(D) Chief Medical and Health Officer
A bill having been passed by the
Legislative Assembly and sent lo
Legislative Council. In the meanwhile

Legislative Assembly is dissolved. Wha!
will happen?

(A)  The bill will be lapsed

(B} Ifitis passed by Legislative Council
it will become law

{C) The new Legislative Assembly wil
reconsider on it

(D} It will be referred to the President

Which Calender is recognized in India?

(A) Babulal Chaturvedi Calender
(B) Gragorian Calender
(C) Indian Calender

(D) Vikrami Calender




101, HEYE % frm st § wwoder &

102.

fesit =1 Hepor wramfem #2
(A) Ig=dE 27
(B) =t 28
(C) =g 29
(D) =T a0

T |91 % J9EIIR ) Teeg e
forear o = ot i 2o

| wEamE, Hee o Bt ot g d arey
Rt =TT 2

I wmE, Shee 6 gmn w s
s g &

. wEE ifs &e & o oaen &
1/4 FEHAT 1 EEAER IEEE

V., WEE, g9 F AR gedl &
=geA & uIiE B =

V. e, Te § fem o geEm

U 9 HeEl & dgEd @ uiftE
BT 3R

w1 v
B n m v
e m v
o m v

101,

102,

In which Aricle of the Constitution, the
‘protection of interest of minorities® iz
provided?

(&) Article 27
(B) Article 28
(C) Article 29

(D) Aticle 30

What is not correct about the removal
of the Deputy Chairman of the Rajya
Sabha?

. The resolution can be initiated in any
House of Parliament.

Il. The resolution can be moved after a
prior notice of fourteen days.

ll. Signature of 1/4 members of the
House is essential to introduce the
resolution.

IV. The resolution should be passed by
the majority of the then members of
the House,

V. The resolution should be passed by
the majarnity of the present and voling
members of the House.

(A 1 IV
(B) 111 v
{Cy 1 m v
(D) 1 v



103,

104.

Feferfiga 1§ & firm Afee o o quam @
L YA~ TR A o e G- frar
wE HeEn afifa feg o d e

)
(B) 7=

(C) steg
(D) fafire g3

5 % Frefefia 4 & frg famm =
it wEfim o 7
(A) =TI
(B) eI
A€ I

() =

105. fr=fefien o & feg &= 7 grai 3 wrd

Fefa %t waffus Fmem fa 27
By T

(B) e

(C) Hfdwen

(D) T4

103.

104,

105.

In which of the following Vedic warks o
social rituals and sanskaras 4,
conception to cremation have beg,
described? :

(A) Dharma-sutra
{B} Grihya-sutra
(C) Shraut sutra

(D) Vishista sulra

To which of the following kingdoms o
the Deccan, Chand Bibi belonged? 1

{A) Bijapur
(B} Golkonda
(€} Ahmednagar

(DY Berar

In which of the following spheres, the
Mughals have greatly contributed to the

Indian culture? 108
(A}  Architecture

(B) Painting

{C) Sculpture

(D} Dance e



406. "erE NTft g waffs Prafsfes § 8

ferm sl § wEr o 3 awvh
st Frar o 7

(A) T TR
(B) WE1 AR
(C) wEmerar fier gz

AD] AT wEme

107. TSTUT ST & e T fegl o we

108.

eyt vita reh

& T7a T o fRm gmag woan e
T 17

(A) @IS Fo

(B) wie feraferenm
(c) =i fi g
(D) @i afds fadta

1929 # i & frma ‘el agmam
wma £t T i o ?

(A) WM e TEER @
(B) e HigwTg el

(C) rger FHAH AT

1086.

107.

108.

In which of the following Movements
spearheaded by Mahatma Gandhi,
Sardar Patel played a leading role?

(A) Champaran Movement
(B) Kheda Movement
(C) Ahmedabad Mill Strike

(D) Bardoli Satyagraha

At which of the following Viceroys a bomb
was thrown at the time of his entry into
Delhi on the occasion of transfer of
captial?

(A) Lord Curzon
(B) Lord Linlithgow
(C) Lord Minto Il

(D) Lord Hardinge Il

Who of the following founded the 'Khudai
Khidmatgar' organization in 19297

(A) Khan Abdul Gaffar Khan
(B) Maulana Mohammad Al
(C) Abul Kalam Azad

(D) Maulana Shaukat Ali




109.

110.

wrA ) e % e s 0 fEe
e e we ey

(A)  reEr e
(B) e g

ey amErd fern

(D) = e

HFE YT % S T 2 7

N

1.

(B) e HTET
(c) Fre & & =

(D) S g

ar= wrd efafan 4 & fen wfe &
fera ofrg 27

N

(B) =Een
(c) #m

(D) H=aTEE

108,

110.

11.

Wwho of the following had initiateqy 1
'Bhudan’ Movement after Inde Pendeny,
of India?

{A)  Acharya Kripalani
(B} Acharya Narendra Dev
(C) Acharya Vinoba Bhave

(D) Acharya Karve

\Who is the father of Human Geography?
(A} Friedrich Ratzel

(B) Karl Souwer

(C) Vidal de la Blache

(D) Jean Brunhes

Bombay High is famous for which minerz!
from the following?

(A) Petroleum
(B) Coal
{C) Diamond

(D) Bauxite



442, T EEE B

(A} =

(B) &

(C) ¥

)

13. e sore W few 3w % weam @
T BT &7

(A) To FHAT
B) frea
(C) Wi

\_AD) wifeea =1

W4, g apiey 1 Fosrion fopwr ) v gam B
Ly gt

12,

113.

114,

Plantation agriculture is
(A) paddy
(B) 1._-.rheal:
(C) jute

(D) tea

Bhilai Steel Plant was established witl
cooperation of which country?

(A) West Germany
(B) Britain
(C) France

(D} Soviet Russia

E_:ikaser Dam was constructed on whit
river?

(A) Sodhur

®) f (B) Mahanadi
© ze X (C) Hasdeo
:1;5.:__'. o) ¥ (D) Pairi




115.

116.

it @ Frara-dm Wi R0
(A) =

By stz

(C) JER

(D) WA=

fova o wEEn =1 oA i = et
Eneil

(A) 33
(B) 63

(Cy 133

\__ua{ 163

117, wrcdta areisraeen ¥ fode o3 | 6l

oty =8t fomar man &7
Ay fafmin

) fmd

N

(D) TFA TE TG

115. Where is the residence area of P'_.rgm?.ll

116.

17

(A) Kenya
(B) Greenland
(C) Zaire

(D) Kazakhstan

What is per square kilometer populatis-
density of the world?

(A) 33
(B) 63
(C) 133
(D) 163

Which is not included in secondary
sector of Indian economy?

(A)  Manufacturing
(B) Electricity
(C) Construction

(D) Mlning and quarry E



118.

118.

120.

ad 2001 ¥ 2011 ) Frafy § etz
e $ Tty 9fy 5w g

(C) 22-61 whmm
(0) I o & #r 7

M & 8 i s w5 e 2y
(A) et BT I i FimE

(B) & HiFL 3G Fit Hiad
(C) e UM ¥
(D) Hel TEHE HE

s v 3 Fea orafy @ AR
ST wE T 27

(A) 1986-69 i 3™
(B) 1978-80 i Y

(C) 1900-92 i alY

| T S g T - |

18, What is the decadal growth rate of

118.

120.

Papulation in Chhattisgarh during 20011
to 2011 period?

(A) 24-23 percent
(B} 19-7 percent
(C) 22:61 percent

(D) None of the above

Which of the following is called the
‘Mational Incomea'?

{A) Price of gross domestic product
{B) Price of net domestic product

{C) Net national income

(D) Gross national income

Which period is called ‘plan holiday in
Indian Planning?

(A) 1966-560 period
(B) 1978-80 period
(C) 1990-92 pericd

(D) Mone of the above
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#a\ wrerrrrorhipeR R Current Affairs

Arjuna Award winner of 2018, Manik

121, 2018 1 w3 qrewr R wh | 121 OB R celated to which sparts
&1 Hay fFe @e A 7 (A) Table tennis
() Twm 2FE (B) Lawn tennis
"T ;:jﬁg (C) Cricket
:D; =6 (D} Hockey
122. 2018 ¥ SIS qrERT WN orae A | 122 Eﬁiﬁ:ﬁ f:;”ﬁ:&fg?ﬂ?gﬁ;:;ﬂ;:gﬁh
e e W % SEE 27 G Hind
i:; %eaiﬁ (B) English
et amed (©) Bengali
(D) =D (D} Assamese
123, 3MEe Ho Hto ez fava F9 2019 123. 1CC World Cup Cricket 2019 will b
w1 sEe frm 4 @ R gm oA ggﬂmzzs in which of the following
T:r@fug g TR {A) England and Scotland
(B e (B} Australia
(C) TS (C} MNew Zealand
(D) FWIvE TH ATH [U} England and Wales
124, ﬂﬂ; e T # & e o 124. Efnﬁﬂcmﬁf;mah received by whic!
i} aﬁ-,gﬁ:gﬁ (A) George Saunders
(B) it =l (B) Paul Beatty
ey T = (C) Anna Bumns
(D) AT (D) Marlon James




125.

126.

127,

FieaA FeEm @y & faw g o
19 ATl TUTY = W i T o o

() & 9
B) = &
(c) UH &M
©) Rt

d¢ wd e gt = fre e g
Srgdt 27

(A) T
(B) STTOTHI
(C) HicThral
() ==

#t g 9, 2018 1 AT FEl o
T o ?

R

(B) ¥t

) g -

©) W "
e — Y -1 -

126,

126.

127.

Lh& narnq of which wlang of Andaman
ICObar islang group (s kept Netaji
Gubhagh Chandra Bose Isiandg?

(A} Havslock island
(B)  Ned island
(C} Ross island
(D) Ritchie island

Vande Bharat express connects Defi to
which city?

(A) Mumbai
(B) Varanasi
(C) Kolkata

(D) Chennai

Where was the Hockey World Cup 2018
organized?

(A) Delhi
(B) Bhopal
(C) Pune

(D) Bhubaneswar

CE FOR ROUGH WORK




128. Tama anftfs e 6 o dow w2l

#i?

(A) BT

(B) = 7TH

(C) g ¥wE anda
(D) fRageeive

120, W 3w 2019 F P e

e fm an % faerd §2

CYRREIRIE
(B) WA
(C) W

L Oy afém

130, @ofte & fbm L F e 7 2020 %

fom amerwen H A TeuEh Hiftw
e 27

131. mﬁ%‘-ﬁnﬂwmmmﬁm&

Fm o1 T T Y
(A) o i TE
(B) o HEwee I
ey okt e

(o) @ Anram faw

128.

129,

130.

131.

\Where the annual meaﬁ[n%:; the Wory |
Economic Forum took pla
(a) SanF rancisco

(B) New York

(C) United Arab Emirates

(D) Switzerland

' jan Open 2015,
The winner of Australian |
Novak Djokovic is @ player of which

country?

(A} Japan
{B) China
(C) France
(D) Serbia

Which city of Brazil is declared as Worc
Capital of Architecture for the year 202C
by UNESCO?

(A) Sau Paulo

(B) Salvador

(C} Rio de Janeiro

(D) Fortaleza

After whose name the Legisiative
Assembly building of this State is kept?
(A) Pl Ravishankar Shukla

(B) PL Sundarial Sharma

() Mini Mata

(D) Veer Narayan Singh
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132, Who Is the leader of oppotition in the
Legislative Assembly of this Siats?

(A) Dharamlal Kaushik
(B) Charan Das Mahant
(C) Raman Singh

(D) Brijmohan Agrawal

133. Guru Ghasi Das MNational Park is rnéated
in which of the following districts of this
State?

(A) Jashpur
(B} Koria

(C) Surajpur
(D) Sarguja

4134. Where is cassiterite ore found in the
State?

(A) Dantewada
{B) Gariyaband
(C) Kanker

(D) Kabirdham

135. Which of the following waterfalls is known
as Niagara Falls of India?

(A) Tirathgarh
(B) Amritdhara
(C) Chitrakote
(D) Mandwa
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137.
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138,

ge of State

ing tribes of this
ich of the following 1r!
;?E:Eﬁe 'parab’ folk-dance Is related?

(A) Maria
(B) Dhuruwa
(C) Muna
(D) Dorla

' ' = f this
hich of the following folk: slcfngs 0
!E::t;;e the ‘Sarangi' or 'Ektara’ is used as

musical instrument?

(A) Bharthari
(B) Sua

(C) Panthi-song
(D) Bans-song

As which of the following Pt. Buddhadityza
Mukherjee of this State is known

internationally?

(A} Harmonium player
(B) Flute player

(C) Sitar player

(D) Tabla player

Who of the following was the first woma”
member of Parliament from this State?

(A) Saroj Pandey

(B} Rashmi Devi Singh
(C) Rajmohini Devi
(D) Mini Mata
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(B) AL, 1947
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(D) w1, 1948

140.  Which of the following dynasties had

141.

142,

ruled this State for the longest time?
(A) Sharabhpuriya

(B) Kalchuri
{(C) Bhonsla

(D) Soma

Which of the following works is not
associated with the first Maratha ruler of
this State, Bimbaji Bhosla?

(A) Introduction of ‘pargana’ system

(B) Amalgamation of Ratanpur and
Raipur

(C) Construction of Rama temple at
Ratanpur

(D)  Introduction of 'subedari’ system

In which of the following months all the
feudatory kingdoms of this State were
merged in Indian Union?

(A) September, 1947
(B} October, 1947
(C) December, 1947

Dy J . 1948 |
(D} January i
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] following ‘pat is the highey
“uihirﬁm part of this State?
mn
Main pat
samn pat
Jarang pat
Jashpur pat

(A)
(B)
(C)
(D)

2 1 Lok Sags:
hich of the following SE
::ns.tilUEﬂﬂiEE of this _E’tate S noy
rasarved for Scheduled Tnbes?

(A) Bastar
(B) Kanker
{C) Sarangarh
(D) Raigarh

Which of the following amounis =
allocated for the agricuttural sectorin©
budget of 2019-2020 of this State?

(A) 21.597 crores
(B} 22,400 crores
(C) 25,295 crores
(D) 26,350 crores

";-;him of the following companies 57
%_ shareholder of the Eha"ia

minium Com 2 in ¥
State? pany of Keorb

™ Refiance Company
{E] Tﬂtﬂ SIBEI CEII'I'Ipany

©) Stariite Cﬂn‘lp.any
@) NTPe
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Which of the following schemes of
medical care of the Central Government
is implemented in this State?

(A) Pradhanmantr Swasthya Yojana
(B) Ayushman Bima Yojana

(C) Ayushman Bharat Yojana

(D) Pradhanmantri Chikitsa Yojana

In which of the following areas the Rajiv
Gandhi Mission is not working in this
State?

(A) Water collection area management
(B} Food safety
(C) Primary education

(D) Health services

In which of the following fields the Pt
Ravishankar Shukla Award is presented
by this State every year?

(A) Communal harmony
(B) Literature
(C) Social service

(D) Emancipation of women

Which of the following folk-songs is
related with the traditionally nomadic
community of this State?

{A) Dholamaru

(B) Dewar-geet

(C) Jawanra-geet
(D) Dhankul



